Review for Chapter 7 Test

Name TW

Perform a hypothesis test for each claim. You may perform a p-value test, or a critical value test. Show any calculations.
Fill in the required blanks.

1) Alocal group claims that the police issue at least 60 speeding tickets a day in their area. To prove their point,
they randomly select 31 days. Their research yields the number of tickets issued for each day. The sample mean
is 60.4, and their sample standard deviation is 12.2. At o= 0.01, test the group's claim.
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2) A local bank needs information concerning the standard deviation of the checking account balances of its
customers. From previous information it was assumed to be $250. A random sample of 61 accounts was
checked. The standard deviation was $286.20. At a. = 0.01, test the bank's assumption. Assume that the account
balances are normally distributed.
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3) A manufacturer claims that the mean lifetime of its fluorescent bulbs is 1100 hours. A homeowner selecﬁ/iS' Y
bulbs and finds the mean lifetime to be 1090 hours with a standard deviation of 80 hours. Test the _
manufacturer's claim. Use o = 0.05. use T
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4) The engineering school at a major university claims that 20% of its graduates are women. In a graduating class
of 210 students, 58 were women. Does this suggest that the school is believable? Use o = 0.05.
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5) A trucking firm suspects that the mean lifetime of a certain tire it uses is less than 35,000 miles. To check the

claim, the firm randomly selects and tes u@ these tires and gets a mean lifetime of 34,570 miles with a
standard deviation of 1200 miles. At o = 0.05, test the trucking firm's claim.
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6) A recent study claimed that at least 15% of junior high students are overweight. In a sample of 160 students, 18
were found to be overweight. At a = 0.05, test the claim. T
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7) The Metropolitan Bus Comp yffalms that the mean waiting time for a bus during rush hour is less than 7
minutes. A random sample ¢f 20 waiting times has a mean of 5.2 minutes with a standard deviation of 2.1
minutes. At o= 0.01, test the bus company's claim. Assume the distribution is normally distributed.
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8) The heights (in inches) of 20 randomly selected adult males haséariance\gf 2.98. Test the claim that the
variance is less than 6.25. Assume the population is normally distributed. Use a = 0.05.
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